«aa

« «

« «

« o« « (Monte Carlo simulation) » « « Ml

€ « « 8 2

« I( & 2

« '« - 38 7«

3 « «

« o« « « 50,75, 100, 150,200

« 2 3 =

(100,200),(150,200),(75,200),(50,200)

(50,75,100),(100,150,200),(150,200,200)
« « U « «

100
«aa

« « «

« « « « «K

«0 €« KK (100, 150),
2 (50,75,75),
3 « o«

100 «

« «

«
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1. ' |
| a' ! '
? 1 (Subroutine  Subprogram)
RANDUM  ? ! 1 (Uniform  Distribution)
- " 09 R |
NORMAL
RANDUM  (Shannon , 1975) scientific
subroutine ? (Random  number) ? congruential
generation method 220 536,870,912 ‘
H 1 65539 Marsaglia Maclaren
65539 ft !
0 1 CALL  RANDUM
(IX,1Y,RNN) IX Y ? ? ?
1 1 RAN !
RANDUM ( )
NORMAL  (Shannon, 1975)
! lh Marsaglia Bray
' Box Muller
' Ih U
CALL NORMAL (EX,STD,Y,Y1)
EX lh &) SID
. 9 "
CALL NORMAL(EX, STD, Y,Y1) ? e 1 ? !
I( h 100
th 10 « 2 Y Y1 727 2
Ih
2 ! I
» | (Mean)
(Variance) (Skewness) (Kurtosis)

? 10,000



Mean

Variance
Skewness
Kurtisis

10,000

»

100
100

« 0

t 20%

' -4.000

' -0.642

1 -0.253

, 0.253

' 0.842
ft

-0.642
-0.253

0.253
0.642
4.000

99.99
100.6
-0.01

2.93

2
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H
3 H X2 )
1 1
y
1
0 | M 0.10 , 0.20",
0.36 ,0.40 ,0.5¢# ,0.60 ,0.70 ,0.80 ,0.90 1.00
19
, »
|
. .
1
(50, 50,50)
1 |
I | i 100
100 1



Y : -4.000 -0.8420
Y -0.8420 -0.2530
Y -0.2530 0.2530
Y , 0.2530 0.8420
Y ' 0.8420 4.0000
«
I«I 17 «
«
1
« 2 « KKK
« 2 « « «
« 3 « «
«« « o«
« « o« «
(Kruskal-Vallis, 1952) « C K K KK
« 15.51 2009« «
« o« « « « «
« « «
« |{ «
« o« fity « «
« 2 (Kruskal-Wallis, 1952)
€« .05 .01 « 5.991
« « H : « ! «I «':L |
« « « o« «
« '« o« « RAKDUM
« «
1 « a =.05 01
« 3 «

3l

11
o1 E=N w N —_

« «

«

ft tu

« 2 !
«

« «

8
.05 .01
« « 1l
If «
(Average rank)
I
« «

« « «

9.21

1 2

« «

4,000

« « €« K«



0.10 «
?
2
100 «
(
.05 01
« 4
0.2C
« 4
« lfa «
« 5
0.3
« 5
« « «
« 6
0.4a
« 6
DfiS«
« !
0.5a
« I
8
0.6a
8
« «4!
« 9

0.70'

If «

100

«

« 1
102 «

103 «

« 1
104 «

« 1
105 «

« 1
106 «

« 100
»(i If
« « 4,000 « «
fitu € €« KK
« 2 «
« 3
»«l
100
« 2 «
2
»
100
« 2 «
2
»
100
« 2 «
2
»
100
« 2 «
2
If »
100
« 2 «
« 2

au« iff
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9 1 !
' | 107 Al 100
80 10 (0 2 0
0.8U 0 2
10 0 1 {
Ilai 108 100
0 11 ( 2
0.9 2
1 0 1 tf
’ 109 100
0 12 ! ? 0 2 0
1.00 0 2
0 1 0 1 { (
tfa( ( 110 100
2-9 : 0 0 0 0 0 ff
(75,75,75)
(100.100.100) , (150,150,150) , (200,200,200) , (50,75,75) ,
(50,75, 100),(100,150, 200), (50, 200, 200) ) 0
1
10-19 ' 0 0 «0 0 X
« 0 (50,50) , (75,75) ,
(100.100)  , (150,150) , (200,200) , (100,150), (100,200), (150,200),
(75, 200) (50,200) 0
1 10-19 0 2
o ? 0
1 (Kruskal-Wallis, 1952)
.05 .01 3.841 6.635
( U

4 (Kruskal-Wallis,  1952)
.05 .01 9.488 13.2717
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